S B KR
Za: NIerats] HE =)
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SA -3 SA(SA) - MR - BES Ol &+ JIEH BlusZ
Sre el X3 1t 4,733,040 4,948,260 A215,220
MAZE 3 JHEE=4 3,400,650 3,543,370 A142,720
SEal HE Hg Z2E 561,800 753,800 192,000
Mzl S 28 561,800 753,800 192,000
201 et 139,900 186,900 A47,000
01 AtR2eltl 59,900 76,900 A17,000
O gEt==H| 44,000 46,000 22,000
o MAZS AtOIHZZ 2SHI[0IAEZ
Z& 14,000,000& 14,000 15,000 21,000
o gets| FHIHEAM ME[olarE2
Z& 5,000,000& 5,000 6,000 21,000
O =g+ 12,900 27,900 /15,000
o gEs NHEflRs 2 [oaEY] 12,000 27,000 215,000
- FA2E +E Z& 6,000,000 6,000 9,000 A3,000
- 42 WSl Z& 6,000,000& 6,000 18,000 12,000
03 HAI2H| 80,000 110,000 /30,000
O 22U =2 AAMZH 23| HTSAHOL
2] 23 20,000,000 20,000 50,000 230,000
203 PR 38,000 28,000 10,000
03 A=A 2| 38,000 28,000 10,000
O HMA=E2 XNIHER =&
Z& 5,000,000& 5,000 4,000 1,000
O 2012 Oi=MIAHE 2 QEJH zl =HEgs ¢
f=a & 33,000,000& 33,000 24,000 9,000
301 Let2a=s 22,500 32,500 210,000
08 2IBI=&H0H 12,500 22,500 /10,000
O =Ul QA =& 9&3 Aac'qgl DLENLC]
A2 & & 5,000,000 5,000 15,000 210,000
307 glztold 345,000 490,000 A 145,000
04 QIZFAAIE X 345,000 490,000 A 145,000
O H2I EE283 & AEXY Nzl A B[
ol atE 2] & & 60,000,000& 60,000 200,000 140,000
O 2012 (I=MHZE S dZH= d&H0E S
HEHEAAL BX 23 65,000,000 65,000 70,000 25,000
SE3HE Dlgt 2= 2,838,850 2,789,570 49,280
A3ME UXE M1 2,078,750 1,998,750 80,000
201 et 1,296,000 1,176,000 120,000
01 AtR2eltl 1,155,000 1,035,000 120,000
O gEt=2H| 1,155,000 1,035,000 120,000
o 9Es izl 2 248 765,000 645,000 120,000
— TV SPOT &1
10,000,000 * 3JHAt » 43 120,000 0 120,000
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2AH -3 S2A(ZH) - MEAIY - BHES 0] &M Iy A Hus2
202 O4H| 16,750 46,750 30,000
03 2A20H] 10,000 40,000 230,000
O BIE &3 3|2 &4 LU 8t&3| Jix =2
S[0aEZ] Z& 10,000,000 10,000 40,000 30,000
306 =2 105,000 0 105,000
01 =2 105,000 0 105,000
O Solora 22T HME 2EH2(XRQ)]
QIZFAAME XA D=281205,000,0008 * 13 105,000 0 105,000
307 2I12t0|™ 650,000 765,000 A115,000
02 QIZHAAEX 40,000 155,000 A115,000
O Yolord 2ESET HE(ZHIoZ =
HA) 23 0 0 105,000 A 105,000
O Y0l E20AF Y FDH &5 X2 [olat
=2 Z& 10,000,000 10,000 20,000 10,000
Brt3|=H| HES 760,100 790,820 230,720
307 2I12t01& 704,280 735,000 A30,720
02 QIZHAAEX 704,280 735,000 A30,720
O 2H&ts] HEAEHIRIRSE 29 BX
ZE 169,280,000 169,280 200,000 A30,720
2HnE S35t 712,300 855,300 A 143,000
ZRCAIZIRE 712,300 855,300 A 143,000
ZHSAIZ DB 712,300 855,300 A 143,000
201 Ler2%H| 38,300 40,800 A2,500
01 AFR22|Hl 20,800 30,800 210,000
O Let=2H| 10,000 20,000 210,000
o QZQIS QEH MEII0IER L2H[HAE
2] 2E 02 0 10,000 A 10,000
02 2229H| 7,500 0 7,500
O =2 AZXAESE 2HXR JIs 2
Z(EHZ0A H=2HA) 7,500,0008 * 13 7,500 0 7,500
202 Ol 283,500 313,500 30,000
03 2A20iH] 170,000 200,000 30,000
O ZHUETAl &2 & 2= 2 HIS#AF I
Oll AP 2E) Z& 170,000,000 170,000 200,000 30,000
203 Y= 4,400 2,400 2,000
03 AIMZ=XH2=XIH| 4,400 2,400 2,000
O 2HNFHA F2=Z ZE 4,400,000 4,400 2,400 2,000
301 LersAz 176,100 281,100 A 105,000
07 2I12t01=2204H| 45,000 150,000 A 105,000
O 2I2t01 2HINFEAF 22104H] KIL[0AHE
2] ZE 45,000,000 45,000 150,000 105,000
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S 2HZAIZIDE CERED)
A - HRA(SAH) - NIRAIY - BES 0f] &FoH JIE Hluws2
306 =92 0 7,500 7,500
01 E¢3 0 7,500 AT7,500
O NNt EH2(=329HI2 UH=H
&) 38 0& 0 7,500 AT,500
HYSAZH (&S X&) 620,090 549,590 70,500
ol 2 A| 134,226 118,926 15,300
ol 23| 134,226 118,926 15,300
204 HFHHAH| 76,500 61,200 15,300
02 32X 76,500 61,200 15,300
O ZEAZNYAS NA2DT H24s2AY|
d3& 76,500,000 76,500 61,200 15,300
Jl2&l 485,864 430,664 55,200
JlE2Z&l 485,864 430,664 55,200
201 LBt23H| 463,328 408,128 55,200
01 AbR2teltl 361,328 306, 128 55,200
O Uxts SHH A 33 252,200,000 252,200 197,000 55,200






